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(This paper contains 30 multiple choice questions. Each question has four 

choices (A), (B), (C) and (D), out of which only ONE is correct). 

 

 1. Find the word that rhymes with the given word. 

  Crude 

  (A) Jute  (B) Flute 

  (C) Blood  (D) Brewed 

 2. Write the correct word to complete the sentence. 

  A shower __________ prevents the bathroom from getting wet when you take a 

shower. 

 

  (A) routine (B) curtain  

  (C) gel (D) dress 

 3. Match the nouns with the correct types. 

 

  (A) (p)-(iv), (q)-(ii), (r)-(iii), (s)-(i) (B) (p)-(ii), (q)-(i), (r)-(iv), (s)-(iii) 

  (C) (p)-(i), (q)-(ii), (r)-(iv), (s)-(iii) (D) (p)-(iii), (q)-(iv), (r)-(i), (s)-(ii) 

 4. Choose the option that rhymes best with the given word. 

  Polish 

  (A) Trash  (B) Demolish 



  (C) Chalice (D) Point 

 5. Name the part of speech of the word in bold. 

  If you are visiting museum this weekend, I will come with you.  

  (A) Verb  (B) Adjective  

  (C) Adverb  (D) Noun 

 6. I am used to separate tea leaves from tea. What am I? 

 

  (A) Milk  (B) Strainer 

  (C) Teapot  (D) Cup 

 7. Identify the type of the noun in bold. 

  You can see the Golden Temple in Amritsar. 

  (A) Material  (B) Proper  

  (C) Common  (D) Abstract 

 8. Fill in the blank with the correct pronoun. 

  My nephew is a doctor. __________ lives in Bangalore. 

  (A) She  (B) He 

  (C) They  (D) We 

 9. What will be the superlative degree of ‘late’?  

  (A) Latest (B) Last 

  (C) Less (D) Least 

 10. Fill in the blank with the correct verb. 

  He can __________ to Shimla during this vacation. 

  (A) went  (B) goes 

  (C) go  (D) going 



 11. Choose the odd one out.  

  (A) It  (B) Although 

  (C) Because  (D) And 

 12. Match the adjectives with their types. 

 

  (A) (p)-(ii), (q)-(i), (r)-(iv), (s)-(iii) (B) (p)-(i), (q)-(iii), (r)-(iv), (s)-(ii) 

  (C) (p)-(iii), (q)-(i), (r)-(ii), (s)-(iv) (D) (p)-(iv), (q)-(ii), (r)-(iii), (s)-(i) 

 13. Choose the correct option. 

  My sister __________ work as a teaching assistant. 

  (A) were used to  (B) used to  

  (C) is used to  (D) was used to 

 14. Choose the correct preposition. 

  Next, I’ll see you __________ July, 2021. 

  (A) in (B) on  

  (C) at (D) near 

 15. Choose the correct adverb. 

  He worked __________ for this exam. 

  (A) hard  (B) hardly 

  (C) extremely  (D) strongly 

 16. Choose the suitable conjunction. 

  __________ staying inside in the evening, Miley decided to go out to run some 

errands. 

  (A) Whereas  (B) Unless  

  (C) Rather than  (D) If only 

 17. Choose the option that represents the correct emotion related to the given 

interjection. 



  Gee!  

  (A) Disgust  (B) Embarrassment 

  (C) Sympathy  (D) Surprise 

 18. Choose the correct preposition. 

  She is very fond ________ Western classical music. 

 

  (A) for  (B) at 

  (C) of  (D) in 

 19. Arrange these words to make a meaningful sentence. 

  Of / damaged / massive / because / old / was / the / earthquake / house / the 

  (A) The damaged old house was because of the massive earthquake. 

  (B) The old house was damaged of because the massive earthquake. 

  (C) The house old damaged was of because the massive earthquake. 

  (D) The old house was damaged because of the massive earthquake. 

 20. After which word should we insert a comma? 

  She knows how to play piano flute and guitar. 

  (A) piano (B) flute 

  (C) guitar (D) and 

 21. Choose the correct interjection for the given picture. 

 

  (A) Ouch  (B) Eww 



  (C) Bravo  (D) Yuck 

 22. Fill in the blank with the correct option. 

  Rita: What __________? 

  Somu: I was watching TV. 

  (A) are you doing  (B) were you doing  

  (C) have you done  (D) did you do 

 23. Choose the type of the sentence. 

 

  What a great catch it was by Virat Kohli!  

  (A) Assertive  (B) Interrogative 

  (C) Exclamatory  (D) Imperative 

 24. Choose the synonym of the word in bold. 

  Ram could not tell the exact location of his grandmother’s house.  

  (A) wrong (B) imperfect 

  (C) accurate  (D) literal 

 25. Complete the sentence with simple past or present perfect tense.  

  I __________ my homework today. 

  (A) doesn’t finish  (B) haven’t finish 

  (C) didn’t finished  (D) haven’t finished 

 26. Find the common noun in the given sentence.  

  There are many skyscrapers in Dubai.  

  (A) Many  (B) Skyscrapers 

  (C) Dubai (D) There 

 27. Find the word that is closest in meaning to the given word. 

  Bush 

  (A) Herb  (B) Shrub 



  (C) Sapling  (D) Climber 

Read the given passage and answer the questions 28 to 30. 

The Titanic sank into the Atlantic Ocean more than ninety years ago (1912). The 

number of passengers who were saved from her was very small. The Titanic, the 

longest and largest ship in the world, was thought by people as unsinkable. Yet, when 

she hit an iceberg due to the dense fog, she actually disappeared in less than 20 

minutes, taking nearly 1200 people with her. However, some children and women were 

saved. They were lucky because according to the custom, they were given the first 

priority to leave the sinking ship.  

 

 28. The Titanic sank ___________. 

  (A) 90 years ago (B) 88 years ago 

  (C) more than 90 years ago (D) Less than 90 years ago 

 29. Who is ‘she’ in the passage? 

  (A) The captain of the ship 

  (B) The writer of the passage 

  (C) The ship, Titanic 

  (D) The women rescued from drowning 

 30. The women and children were lucky because ___________. 

  (A) they were made of plastic 

  (B) they were not on the ship 

  (C) the Titanic did not drown 

  (D) they were rescued first from drowning as per the custom 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


